4x2+x x2+l7 5x-1
3 9 T 6

(4x2+x)3 x2+17 5x-1
32 9 T 6

(4x2+x>3—(x2+17) 5x-1
9 6

(12x2+3x>—(x2+17> 5x-1
9 T 6

12x2+3x-x2-17 5x-1

9 6
2
11x +3x-17 5x-1
9 T 6
2
11x +3x-17 5x-1 0
9 6
(11:%+3x17)
11x"+3x-17)2 (5x-1)3 0
9-2 T 63 T

(11 +3x-17)2-(5%-1)3
18 =0

(222 +6x-34)-(15%-3)
18 =0

22X2+6X-34-15X+3
18

22x2—9x—31

18

JpoOb oOparaeTcsi B HyJIb TOT/1a, KOTJia YUCIUTEIh PaBEH HYIIIO.
2 _
22X -9x-31=0

D=b’-4ac=(-9)°-4-22(-31)=2809

_-b=/D

X1,2_ 2a



_9-53_ _9+53 31
X172 22= %90 T2

g3l
OTBCT: X=- ,X—22



